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Instruction :  Figures to the right indicate marks of the questions.

1. (a) Describe in brief the structure of the Financial Markets. 7
OR

Outline the characteristics of the Money Market.

(b) Answer any two in brief : 4
(i)  What is meant by risk and uncertainty ?
(i) What is the difference between present value and future value ?

(iii) What impact does the frequency of compounding has on returns ?

(c) Answer the following in one or two sentences : 3
(i)  What is the rule of 72 7
(i)  What is the relationship between risk and reward ?

(iii)) Name at least six different risks related to financial transactions.

2. (a) Explain the market segmentation theory, expectations hypothesis and liquidity
premium theories of term structure of interest rates. 7

OR
What is a yield curve ? How is the yield to maturity calculated for a bond ?

(b) . Answer any two of the following in brief : 4
(i) Differentiate between fixed interest rates and flexible interest rate.

(il)) How is equilibrium in the monetary sector established in the IS-LM
model ?

(iii) How are interest rates decided under loanable fund theory ?
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Answer the following in one or two sentences.
(i)  What are administered interest rates ?

(i) A loan is offered by a bank at an interest rate 36 basis point above the base
rate. What interest rate would the bank charge if the base rates were 8%,
10% or 13% ?

(iii) What are bid and offer rates ?

Explain the law of one price.
OR

Explain how the problems of adverse selection and moral hazard arise.

Answer any two in brief :
(i)  What is the strong form of efficient market hypothesis ?
(i) What is financial arbitrage ?

(i) Explain the market line of capital asset pricing model.

Answer the following in one or two sentences::
(i)  What is meant by accounting measures of value ?
(i)  State the lemon’s problem.

(iii) What is meant by triangular arbitrage ?

Explain characteristics.and pricing of a forward contract.
OR

Describe a futures contract.

Answer any two in brief :

(i)  Describe the various positions that an options contract can have during its
life for the buyer of the contract.

(i) ». What is price discovery ?

(111)  Draw the diagram for a two time period binomial tree for the price of an
options contract where the underlying is a dividend paying share.

Answer the following in one or two sentences :
(i)  What is strike price ?
(i) What are the costs considered in cost of carry theory of futures pricing ?

(iii)) What are warrants ?
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If the maturity period of a bond is seven years, then it will be
(a) A long term instrument (b) A short term instrument
(c) A very long term instrument (d) Medium term instrument

Which of the following is not used in the money market ?
(a) Certificate of deposit (b) Bond
(¢) Treasury bill (d) Commercial paper

Equity share of company A give 10% return with 80% guarantee and those of
company B give 20% return with 50% guarantee. From safety point<of view
investment should be made in shares of

(a) Company B

(b) Company A

(c) Neither in Company A nor in Company B
(d) None of the above

Risks in financial transactions are measured
(a) Over time (b) _Over space
(c) Over instruments (d) - All of the.above

A bank offers 3% interest for one year deposit, 5% fot three year deposit and 4%
for 10 year deposit. The interest rate term structure line would be

(a) Parallel to x axis
(b) Parallel to y axis
(c) Rising over time
(d) Rising and then falling over time

Which of the following instruments provides information about risk free interest
rates ?

(a) Debentures (b) Fixed deposits
(c) Treasury bills (d) Certificate of deposits

Which of the following explains the term structure of interest rates ?

(a) Liquidity preference theory (b) Expectations theory
(c) Cost of carry theory (d) Classical theory
If the inflation rate in an economy is 10% and the real interest rate is 4%, then the
nominal interest rate should be
(a) 6% (b) 14%
© 7% d) 10%
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If USD 1 =X 56 and GBP 1 = USD 2.5, then due to triangular arbitrage
(a) GBP1=X%100
(b) GBP1=%156
(c) GBP1=X%140
(d GBP1=%180

A deep discount bond has a face value of ¥ 1000.It can be sold in the primary
market at a price of

(a) 900

(b)y < 1000
(c) 1100
(d) 1001

A trader in an option’s exchange buys a put option. If it exercises the option, then
it will

(a) Buy the underlying

(b) Sell the underlying

(c) Not trade in the underlying

(d) Will let the option expire

A derivative contract is an instrument of
(a) Money market

(b) International market

(c) Debt market

(d) None of the above

(xiii) The strike price of a call option was.13:25 and during its life the spot price was

(xiv)
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13.50, then the option.was

(a) in the money for the buyer

(b) in the money for the writer

(c) out of the money. for the buyer
(d) at the money for the writer

A player can exit the futures market by
(a) entering into areverse contract

(b) executing/the trade in the underlying
(¢). both (a) and (b)

(d) neither (a) nor (b)



